











32. @ Poeisro 25 QOxmeHefled GFgHememr BHL S LIOL LS. (wpHev GHmelsd 1  GFigulib,
e meugdl Ohxmelsd 3 GFigub, apeipraldl Ghmellsd 9 GFguid BL (WPYe] GFUIWLINILIL L .
@6iBalensy Hlemelsnl Ul ThHemen OFigHen CxHemen?

An organization plans to plant saplings in 25 streets in a town in such a way that one sapling
for the first street, three for the second, nine for the third and so on. How many saplings are
need to complete the work?

33.16x* — 24x3 + (a — Dx? + (b + D)x + 49 aaiug % W1p aujHsh aeafsd @ oBpid b
B UIIBBI6T DS IL|BN6NTE BT RIS,

Find the values of a and b if 16x* — 24x% + (a — 1)x? + (b + 1)x + 49 is a perfect square.

4 3 1 2 3 4 8 3 4
34A=12 3 -8, B=|1 9 2| wspw C= [1 -2 3 ] 61601160,
1 0 —4 -7 1 -1 2 4 -1
A+ (B+C)=(A+B)+C asiuemss Ffuniss.
4 3 1 2 3 4 8 3 4
IfA=1|2 3 -8[,B=|1 9 2 ]and C = [1 -2 3 ]then verify that
1 0 —4 -7 1 -1 2 4 -1

A+(B+0)=(A+B)+C

35. AABC —ufsv C ez QFmBsmeniid sy@in. ubsnhisst CA wpmip CB-uller bBLLeTeNseiT
e P wmmip Q ereflsd 4(AQ? + BP?) = 5AB? esten Hlmieys.

P and Q are the mid-points of the sides CA and CB respectively of a AABC, right angled at C.
Prove that 4(AQ? + BP?) = 54B2.

36.12y = —(p+ 3)x +12,12x — 7y = 16 oy CriCaiBssn oamibesTain QFmeGss oefed
‘P -ulled AIELIS HT6wIb.
If the straightlines 12y = —(p + 3)x + 12,12x — 7y = 16 are perpendicular then find p.

37. om Gxmelsd 2 s @m il g6 Fareneledmbdl, (Feilemsd HmIbhE Gwsv h 18 2 _wgHdled
2 eitengl) GHmelenr 6IAT UBBHHL 2 6iem  OBEBTMH il gedt 2 Ff, g YHuieumnser
JBBHCHTmND, ABHHECHMemiD (1LpewpGul 01 wBmID O, elefled, GIATIILIGHHH60 DAWIOHSEH 6L 196

cotf,

® Wb h(l +—) oT6u  [BlemLT b,

cotf,
From a window (h metres high above the ground) of a house in a street, the angles of elevation
and depression of the top and the foot of another house on the opposite side of the street are

0 and 6, respectively. Show that the height of the opposite house is h (1 + &92).

cotf,

38.700 8 2 _wrsHaed UBhHISCOBTENYHEGHID @ CamselsTiLMelmbaH @mHauT T uBisler
BIH6Med BHOTHITE 2 6o Am  GQUTHLBemem  30°45° @Bohbd GCHTemmiberNey  SHTTHBMT
sTaflsd, <uBMileln SiBVSHMBH STeia (V3 = 1.732)

A person in an helicopter flying at a height of 700m, observes two objects lying opposite to
each other on either bank of a river. The angles of depression of the objects are 30° and 45°.
Find the width of the river. (/3 = 1.732)

39.12 G5 ellLgpd 15 QF18 2 wgwd GCsTemiL GBToul L 2 mewem (WIRSIHID Ll Sanlleummsd
(ice cream) Biyuutiu(Beitengl. @iuelsgniprangl 6 GF.18 el Lpd, 12 QF.18 2 wgupld CsTewniL
CoBLmlo oiemrHCaTend @Qemembsh algellevamobd Fmiollled BIFUULILGABH. THHMEN  FnlDL 6160
L6 BnlHlenell (LPILAUSHIOTS BIFLILIGOTLD 61608  HT6uIb.



A right circular cylinder having diameter 12 cm and height 15 cm is full of ice cream. The ice
cream is to be filled in cones of height 12 cm and diameter 6 cm, havinga hemispherical shape

on top. Find the number of such cones which can be filled with the ice cream available.
maITery HTUIFFensvll LUBBIUL HHGHBHIH HemilTed, LTH BB L 1obHeilen eremiemibend HEID

40.

O&HTBHHILL_[BeiTengl. RHHTaN6N H 1L eNl60HHID HT6wHISb.

QIS (QI(HLBIH6IEL) 0—10 [ 10—20 | 20—30|30—40[40-50|50—-60| 60—70
UTHSSLULLL  1péserls 3 5 16 18 12 7 4
61 6uitstf |86

In a study about viral fever, the number of people affected in a town were noted as
Age in years 0—10 | 10—20|20—-30|30—-40 | 40—-50|50—-60| 60—70
Number of people affected 3 5 16 18 12 7 4

Find its standard deviation.

41.

A wppip B 8w @m eflemmswiiugsmyyset 1IT-uflsd CFIausmatsdd STHAMULSITHN. Seu]Heed

A CaibosbsslLBasBsTen Bapsse 0.5, A wipio B @meumn CsHibolsHasiuBeudsbasmet
pawsse 0.3 aaied, B CxHiIbosbBSIUILGMSBHTN AHFULF BHpHHey 0.8 etan mlepisbs.

A and B are two candidates seeking admission to IIT. The probability that A getting selected is 0.5
and the probability that both A and B getting selected is 0.3. Prove that the probability of B beomg

selected is atmost 0.8.
42.

(=5,—3)(—4,—6)(2,—3) wimid (1,2)eudu Lsielamenst (Lenaihemas QEMailL HIBETHHET LT enLis SHems.

Find the area of the quadrilateral, formed by the points(—5, —3)(—4, —6)(2, —3) and (1,2).

PART -1V/ ugg- IV
(Marks: 16) / (wgiQuemise: 16)

IV. Answer both questions.

@m eNeTHBEhHBGHID allenl el babeLD.
4391) QBTHESUULL GMUIQF FLOGTLLIQET GIMILLLD 6INIH. DUHT HIa|Helen HeTenomUIs FmBl

x> —9x+20=0

2 x 8=16

a) Graph the following quadratic equation and state their nature of solutions.
(OR)
o) ¥y =2x2—3x—5 —ulel auenJULID QUMb SIHwIl LGS 2x° —4x —6 =0

X2 —-9x4+20=0

61603 FLOGHILITL 6D & ST HHa)LD.

b) Draw the graph of y = 2x? — 3x — 5and hence solve 2x? —4x — 6 = 0

44.2) PQ = 4.505.18 2R = 35° oppip 2 54 R-uledmha suenyuliin L bHECHTLIgsT Benid

RG = 60516 stemr oemoujiory APQR  euemnys.
Constructa APQR which the base PQ = 4.5cm, 2R = 35° and the median from R to RG is 6cm.

(OR)

) 6 QF18 el L(psiTen eIl LID eIedIbhEH el L SHer enoulbHelmbas 860F.16 Gemensveisy P
otetiB  Lieieflemuwids @pildsayn. istemuledmbas PA wwoppib PB eeim @m COaHmHCHTHH6I

QUMIHIH SleUBBlET HenmmiGeneT lenedl([Hb.

Draw a circle of diameter 6 cm from a point P, Which is 8 cm away from its centre. Draw
the two tangents PA and PB to the circle and measure their lengths.




